T A% A, B ol tiste] n(AUB) = 30, n(B) =20, n(ANB) =7 4 H,
n(A) ¢ g& Fotolzth



gho] AlZtEoA Sta Ao Eolfle AE2 BT 6705, 58U
B 53k, sta doju g2 Ao E01%l= FHEol 93

Kol
o}, o] vte] sa st FRYe] FFOR Folgdk HEL ¥ TBlx

A



Oa 5 &4 g2 A2

® {1,2}n{2,3} = {2}

@ {4,583} n{zh 5} =0

O {—= 1IN\ A =N}
@ {zlz=69] F}n{2,3,5} = {2,3}

® {zleve &5} N {z]z 149 F5} = {1,7}



A={c,o,m,p,u,t,e,r}, B=1{h,0,m,e} 4T, AUB o] Y47}

=38

ofd & B4 nF St
[1]
H7]

a7e7c7h’07m7p’7‘7t7u7w







Mo

6. AAFA B XHst] XUANB) =X o o th& F &2 A7

O XcA @ X c(ANB) ® X Cc(AUB)

@ (AuB)c X ® (AnB)Cc X



®U-4

@ B-A

© A°

® AnBe¢

@ BN A°



40 golct,

o
e

St
ot

Hlsf &

sholat

.;L

e

__Oﬁ
H_OL

T

ZH]



C_ AC
B
o]l [qL
31 4
={1,2,

5}, B

o A= {34,

a}

of f

5,6}

3’47

={1,2,

U=

=7

}
® {4
@ {3,5}
6}

{4,5,
| ®
@ {3

5}

@ {4,



ool 19

Jol 137, Aol 71 2

SHA
o

A 357 SOl AlFel 7t &

St
ol

10.

min

ol

K

stoizr.

.;L



